Best model for HELP_J142737.857+341328.158 at z = 1.533 )(2=2.97
OPTx?=3.38 IRx?=2.49 threshold (OPT IR)=20.27 [um]

2 ] Stellar attenuated
10 § ----- Stellar unattenuated
] —— Dust emission
101 4 —— AGN emission
E = Model spectrum
0 ] ® Model fluxes
10 3 M oObserved fluxes
>10t4 e
? § \m-'-v».-
x 1072 3
= E
u_ B
10-3 3
1074 - {
Y m
><10—5 {'m
= ]
0%
© 1 =f= (Obs-Mod)/Obs
S ]
i) ]
n
) 0Tr-t - “‘"*K' ------------------
) ]
2 ]
S ]
© -1 T T LR LR T
& 10° 10! 102 103 104

Observed wavelength [um]

R CIGALE



